
EXPLODED VIEWS & PARTS LISTS

4-52

I 4201010 Freezer Door Replacement
2 6200410 Screw, #8 x 1/2" Slot Head Hex
3 3450450 Molding Magnet - 3"
4 4131530 Door Handle Assembly
5 6200720 Screw, #8-18 x 1/2 PH Truss HD
6 3420260 Gasket Retainer, 66.875"
7 4330280 Door Shelf Assembly, Fre
8 4130970 Handle Molding Assembly
9 3510740 Door Shelf Support, Fre
10 3601000 Freezer Door Shelf
11 3211090 Door Gasket, Freezer
12 4200920 End Cap Replacement

Components
13 3420140 Gasket Retainer, 16.125"
14 6200720 Screw, #8-18 x 1/2 PH Truss HD
15 2225415 Door Trim, Bottom
16 3411561 Bottom Trim Filler, Freezer
17 3600761 Door Shelf Inner End Cap RS

3600762 Door Shelf Inner End Cap LS
18 3600751 Door Shelf Outer End Cap RS

3600752 Door Shelf Outer End Cap LS
19 3550440 Door Shelf Retainer
20 6200840 Screw, #10 x 1/2" PH FH AB SS
21 4330260 Door Shelf Assembly
22 3510720 Door Shelf Support, Ref
23 P1/P2 Handle Insert-Bright White/Almond

Buff
P3/P4 Handle Insert-Camel/Adobe
P5 Handle Insert-Brushed Pewter -

(STANDARD)
P6/P7 Handle Insert-Smoke

Gray/Charcoal
P8/P9 Handle Insert-Port Brown/Black

Slate
P10 Handle Insert-Stainless Steel
P11 Handle Insert-White Enamel
P12 Handle Insert-Avocado Enamel
P13 Handle Insert-Harvest Gold

Enamel
P14 Handle Insert-Almond Enamel
P15 Handle Insert-Coffee Enamel

24 3510970 Vertical Trim Strip
25 3510960 Door Side Trim
26 2225414 Door Trim, Top

27 4201020 Refrigerator Door Replacement -
Note: Does not include dispenser

28 3515910 Dairy Door
29 3411562 Top Trim Filler, Freezer
30 3421060 Dairy Compartment Center Divider
31 4330390 Dairy Compartment   Assembly
32 3601230 Dairy Compartment
33 3510940 Door Shelf Support, Refrigerator
34 3601240 Door Shelf Tray, Ref
35 4330380 Door Shelf Assembly, Refrigerator,

17"
36 3600980 Refrigerator Door Shelf
37 3420200 Gasket Retainer, 27.062"
38 2225514 Door Trim, Bottom
39 3411552 Bottom Trim Filler, Refrigerator
40 4200920 End Cap Replacement

Components
41 6200840 Screw, #10 x 1/2" PH FH AB SS
42 NA Glasswell Sump Grid - See G1

through G9
43 G1 Glass Well-Bright White

G2 Glass Well-Almond Buff
G3 Glass Well-Camel
G4 Glass Well-Adobe
G5 Glass Well-Brushed Pewter

(STANDARD)
G6 Glass Well-Smoke Gray
G7 Glass Well-Charcoal
G8 Glass Well-Port Brown
G9 Glass Well-Black Slate

44 3211080 Door Gasket, Refrig.
45 3550490 Dairy Compartment Retainer
46 3600891 Dairy Compartment Inner End Cap

RS
3600892 Dairy Compartment Inner End Cap

LS
47 3600851 Dairy Compartment Outer End

Cap; RS
3600852 Dairy Compartment Outer End

Cap; LS
48 3411551 Top Trim Filler, Refrigerator
49 2225513 Door Trim, Top
50 3211310 Dairy Compartment Seal
51 3411490 Egg Tray

590 DOOR VIEW
Ref. Part No. Description Ref. Part No. Description


	next page: 
	500: 
	main: 
	Previous1: 


